Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
Diploma Semester -VI Regular Examination May - 2011

Subject code: 365402 Subject Name: Financial Accounting - V
Date: 19/05 /2011 Time: 02.30 pm - 05.00 pm
Total Marks: 70

Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.

3. Figures to the right indicate full marks.

4. English version is Authentic

Q.1 (@) Explain-“Liquidation of Companies.”
(b) Explain-“Liquidator’s Receipt & Payment Statement.”

Q.2 (a) Jagruti Ltd. was liquidated on 31/03/2007.0n that date its Balance Sheet

was under :
Balance Sheet

Liabilities Rs. Assets Rs
Equity Capital Buildings 2,00,000
2000 shares of Rs 100
each, fully paidup.  2,00,000  Furniture 4,000
Preference Capital Machinery 2,40,000
1000 10% shares of
Rs 100 each. 1,00,000 Investments 1,00,000
General Reserve 4,000 Stock 3,22.900
15% Debentures 2,00,000  Debtors 24,000
Unpaid Debenture Cash 9,100
Interest 30,000
Bank Loan 80,000
Creditors 2,00,000
Provident Fund 50,000
Unpaid salaries of
Three employees 18,000
Worker’s Salaries 18,000

9,00,000 9,00,000

The bank sold the Investments at Book Value and paid the surplus
amount of Rs.20,000 to the liquidator. Other assets realized as under:
Buildings Rs.3,00,000, Furniture Rs.2,000, Plant Rs.3.00,000, Stock
Rs.2,60,000 and Debtors Rs. 20,000. The liquidation expenses were Rs.
15,000. The liquidator has to be paid remuneration of 5% on the amount
realized by him. Debenture holders were paid on 30/09/2007. Preference
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Q.3

(b)

shares are cumulative. Preference Dividend is outstanding for the last
two years. Prepare Liquidator’s Receipts & Payments Statement/Account.
Write a Short Note :
(1) Remuneration of Liquidator.
(i1) Secured Creditors.
OR

Explain the need for the valuation of shares.

Explain any two methods of valuation of goodwill.
The Balance Sheet of Indochem Ltd. as on 31/03/2007 was as under:

Liabilities Rs. Assets Rs.
Share Capital : Land &
1,00,000 ordinary shares Building 4,20,000
of Rs. 10 each. 10,00,000 Plant &
50,000 5% cumulative Machinery 3,90,000
Preference shares of Loose Tools 70,000
Rs. 10 each. 5,00,000 Stock 7,84,000
Profit & Loss A/c 3,00,000 Debtors 5,46,000
Sundry Creditors 5,00,000 Bank Bal. 1,10,000
Provident Fund. 20,000

23,20,000 23,20,000

Determine the Intrinsic Value of the Ordinary Share, after taking into
consideration the further information :

The values determined for Land & Building and Plant & Machinery were
Rs,5,00,000 and Rs.4,30,000 respectively. The Goodwill of the company
is to be determined at annual average profit of the last five years. The
total profits of the last five years (after tax) are Rs. 6,50,000.

The preference dividend is unpaid for one year. The preference
shareholders have a first right to capital and unpaid dividend in case of
winding up of the company. They have no further right to get a share in
the surplus assets arising subsequently.

OR
Discuss the factors affecting goodwill.
From the information given below, determine the Capital Employed of a
company :

Rs. Rs.
Land & Building 1,20,000 Debtors 40,000
Plant& Machinery 60,000  Cash & Bank Balance 15,000
Furniture & Preliminary Expenses 10,000
Fixtures 40,000 Debenture Discount 5,000
6% Debentures 50,000 Provident Fund 5,000
Creditors 30,000 7.5% Tax Free

Depreciation Fund 20,000 Government Securities 10,000
If the profit during the year was Rs. 34,000 then what would be the
‘Average Capital Employed.’?
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Q.4

Q.5

Q.5

(@)

(b)
(@)

(b)
(@)

(b)

(@)
(b)

From the following particulars, determine the value of the equity share
by Net Assets Method :
Balance Sheet of the company as on 31.03/07

Liabilities Rs. Assets Rs.

1,000 10% Preference Goodwill 10,000

Shares of 100 each. 1,00,000 Sundry

1,000 Equity Shares Assets 3,80,000

of Rs. 100 each 1,00,000 Preliminary

Creditors 2,00,000 Expenses 10,000
4,00,000 4,00,000

The value of the Sundry Assets, including goodwill was fixed at Rs.
5,10,000. An unrecorded liability was there of Rs. 10,000.

Discuss the methods of share valuation.
OR
Determine the value of Goodwill by the Capitalization of Average Profits
Method.(Capitalization of Profits Method):
(1) Average Annual Profits of Business Rs. 12,000

(2)Total Assets of Business Rs. 3,50,000
(3)Total Liabilities of Business Rs. 2,00,000
(4)Expected Rate of Return 6%

Explain the Responsibilities of the Auditor.

From the following Balance Sheets of A Ltd. as at 31* December-1995 &
31* December-1996, prepare a Statement Showing Changes in Working
Capital :

Balance Sheets
Liabilities 1995 1996  Assets 1995 1996

Share Capital 2,50,000 3,00,000 Fixed

Reserves & Assets 2,40,000 4,20,000
Surplus 1,20.000 2,50,000 Invest
Secured Loan 75,000  ------ ments 18,000 15,000
Creditors 1,75,000 1,90,000 Stock 58,500 1,60,000
Provision Debtors 1,37,000 92,000
For Tax 25,000 75,000 Bank
Balance 1,85,000 1,20,000
Prepaid
Expenses 6,500 8,000
6,45,000 8.15,000 6,45,000 8,15,000
Explain:
(1)Audit Report.
(i1)Audit Certificate.
OR
Explain the Application of Fund Flow.

Explain-“Defective Report of the Auditor.”
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